Find change @) nijah buys a lollipop for 15p.
She pays with a 50p coin.

How can we work out the change?

Dora has this money. Circle the calculation.

@@0.'0 15 - 50 50 + 15 15 + 50 50 - 15

She spends 45p. Talk about it with a partner. @
How much change does Dora get?

9 Annie buys this book.

. She pays with a £10 note.
e Tommy has this money.
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He spends 41p.

How much change does Annie get?

How much change does Tommy get?

@ Dexter buys these sweets.
o Alex has this money. He gives the shopkeeper £1 and 83p.

@ How much change does Dexter get?

She spends 67p.
How much change does Alex get? £ and p
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